IR

ERHRA ¥ R B4 B98E i &
FiKEMBZT  |HPPE(EFZOMAZES) L=5.00m 75 x 14 | 70m# E%(5%0m)
®75(P) HPPE(E®) L=5.00m ¢ 75 x 3 |14mFAER(FE1m)
(HERAMHER) |HVP  L=4.00m b 75 x 1 [2m#E&(FE2m)

RURAANIZUOEE 75 1& 1 | REKEEI S EDIER
ISUTEEM 75 1@ 1
PECaA b 75 1@ 1
AHEIEE (P) ¢$75%x45° 1@ 2
ERTHANEEE (P-V) $75x%x45° 1& 1
AHEIEE (V) 75 % 45° & 1
vs¥aA bk 75 1@ 1
EFEZYV vk @75 {&l 1
@ 150(P—V) HPPE(EE%) L=5.00m ¢ 150 x 3 |14.0mAER(FE1m)
(NERRERLER) [HIVP L=4.00m $ 150 X 2 [5.0m#ERGE3mM)
EREBANEHE (P-V) $ 150 1@ 2
AHEIEE (V) ¢ 150 1@ 2
vs¥aq bk $ 150 1@ 2
AHBEITEE (V) $150% 75 & 1
EFfZF—X @150x ¢p100 | 1& 2
¢ 150— ¢ 758E#z [HiVP  L=4.00m ¢ 50 x 1 [2.5m#ER(5%1.5m)
(¢ 50) AHEITEEV) $150% 50 & 1
HiTJLR ¢ 50 & 1
INIVT Iy AS)IL) ¢ 50 1@ 1
AN (V) @ 75(V) & 1
ABST % ABSI L& H ¢ 75(V) & 1
VP® 75
AN (V) @ 75(V) & 1
BR—b BRI —k W=150S m 106.0
EIK 5 15 E=—ILATEK ALY $150% $75 = 1
®75(P) TUH=E H=1200 #H 1
UFHET | RUVA—AREYI—ILIEYF ¢$ 100 = 1
¢ 75(P) TtUH=E H=800 #H 1
TUAFHET | RUVA—AREYI—ILIEYF 150 = 2
¢ 150(P) HtUH=E H=800 #H 2
HARRBREBET kg 75 = 1
75 #HEH H=200 75 = 1
ANBISUOABNTEE H200 x ¢ 150 & 1
ISUTEEM 75 1@ 2
HAREE H=800 #H 1
KB YRILFERKEGERUER) ®75% ¢20 1@ 1 [27—*&
HAHBF ¢ 20 & 1
HRILSKEE  |HIVP  L=4.00m ¢ 20 X 1
¢75x $20  fhiz LR $20 1 2
Hiv4 vk ¢ 20 1@ 1
YRILFER KGR ER) ®75% ¢30 & 1 [27—*&
YRILFER KGR EF) $150x ¢ 30 1@ 1 [27—*&
HRLS Kk [BLAHRF ¢ 30 & 2
¢75% $30  [H4ivP  L=4.00m $30 & 1
HiTJLAR ¢ 30 & 4
Hiv4 vk ¢ 30 1@ 2
BR—b BRI —bk W=150S m 7.0 [2.0m x 344




FHE

IRIRA B & B B9%= B =
BKEMBET RUIFLUOETWERT ¢ 75 m 84.0
®75 E-—ILEmET o715 m 30
(FERE#ER) |RUTFLUEUIET ®75 m| 3
RUIFLUERFI (REES) ®75 1O#MF | &FT 14
RUIFLUERFI (REES) ®75 20#F | &Fr 1
TSUUMFT ¢75 m| 1
ANZHIIBEF I (P) ¢75 | 8
AAZAIBFI(V) ¢ 75 | 9
EKEMBET RUIFLUOERET @ 150 m 14.0
@ 150 E-_—ILEHmEKRT ¢ 150 m 5.0
DERRILER) |RUZFLUEYET ¢ 150 A 4
RUIFLUEBRFI(RUEES) | ¢150 20#F | &Ar 2 |F—R®@
ANZHILEETLIP) 150 | 2
AAZAIIBFI(V) ¢ 150 A 12
E-_—ILEHmERT ¢ 150 m 2.0
AN HILEFI(V) ¢ 150 a 5
FEHR—F BRI —k m 106.0
THIKERETL KR FOEE)BRET $150% 75 = 1
¢ 150% ¢ 75 FEFZRET H=1300 #A 1
BEHRE 54 1
HTUHBRET |(EUIHHRET ¢ 75 = 1
®75 (P) AHZHILELI (P) ¢ 75 m| 2
REFET H=800 #H 1
BERE 54 1
TUHHET |EUFRET ® 150 = 2
® 150 (P) AHZHILELI (P) ¢ 150 | 4
REFET H=800 #H 2
BERE 54 2
HARERET HARRRERET ¢ 75 H 1
ANZHILEFETL(P) 150 | 2
TSUUMFT ¢75 m| 1
REFET H=800 #H 1
BERE 1& 1
HRAKUIELT YRILDKZFETL RUTFLUE 075%x 620 & 118
YRV KR MERLAAT ¢ 20 | 1
d75% ¢20 E-—ILEfMET $20 m 30
TSH#FT ¢ 20 A 6
fakgET HYRILHKERET KITFLUE ¢75x 30 | @ 1 |24
HRILSKE  [HRLAKRBET RKUIFLLY $150x ¢30 | {E 1
$75x% ¢30 MERLAAT ®30 | 1
®150% 30 E-—ILEfMET ¢ 30 m 4.0
TS#MFT ®30 a 12
BRI —bH BRI —b m 7.0
EKEABR
EKEER BKEERT HKELRE =} 0.05 |L/2,000H




T I H E X

4 L o | B E = BREtHE

BLKEMET H=1200 | BFE® 060 m X 1290 m X 80 m = 619 m3

H=800 |MFEIQR® 060 m x 0950 m X 780 m = 4446 m3

BERYE T H=800 |MFE@®® 060 m X 1040 m X 225 m = 1404 m3

ABS 100 m X 1040 m x 20 m = 208 m4
aF 66.77 m3 70

H=1200 75 060 m x 0790 m X 80 m = 379 m3

H=800 ¢75 060 m x 0290 m X 780 m = 1357 m3

HHERLIGERFYS)| H=800 @ 150 060 m x 0380 m X 225 m = 513 m3

ABS 100 m X 0500 m X 20 m = 1.00 m4
At 2349 m3 20

H=800 | EFED 060 m x 0200 m X 80 m = 096 m3

MeEEL TGk 1) | 2% @26 060 m 0490 m x 1005 m = 2955 m3

H=1200 060 m 0200 m X 20 m = 024 m3
At 30.75 m3 30
I MET 66.77 - 30.75 /0.9 = 3261 m3 30
TERE | TE®RET t=10cm | RC-30 060 m X 1005 m = 60.30 m2 60
LERET t=8cm M-30 060 m x 1005 m = 60.30 m2 60
AEIHAsSFHEI(NA)| t=4cm EhL 080 m x 165 m = 1320 m2 13
R270 IR | FREmET t=15cm | RC-40 060 m X 80 m = 480 m2 5
LERET t=22cm | M-40 060 m x 80 m = 480 m2 5
RBASTHE T () t=5cm oy i 220 m X 80 m = 1760 m2 18
HBATHE T ) t=5c¢m FHL 220 m X% 80 m = 17.60 m2 18
REE  |[{RAsSET t=3cm | #AHI 060 m x 80 m = 480 m2 5
AsEhZERR I T t=15cmELF 2450 m X 4.00 = 980 m 98
AstHSERRRER T t=10cm 220 m X 80 m A = 1760 m2 18
AsEHEERRRER: T t=4cm 080 m x 165 m B = 1320 m2 13
AR BER T t=3cm 060 m x 80 m = 480 82 5
AsEHEFLER- AT | L=9km AXO0.1 + B x 0.04 + C %003 = 243 m3 2
WAKUIB I |BHKET H=800 | BFE® 060 m X 0950 m X 70 m = 399 m3 4
N=34t EWIERLIGIEFYY)| H=800 | BFE® 060 m x 0290 m X 70 m = 122 m3 1
MmERLI(G4ELT) | H=800 | BFEQ® 060 m X 0490 m X 70 m = 206 m3 2
HIuET 3.99 - 2.06 /0. = 170 m3 2
TERET t=10cm | RC-30 060 m x 70 m = 420 m2 4
LERET t=8cm M-30 060 m x 70 m = 420 m2 4




)75 HPPE Bl K & 8 & #

PEE (m) \
5 OE M E RO ERE S | UL W%
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()
HPPE 75 5. 000 3. 000 2. 000 5. 000 1 HIE]13
g 5. 000 3. 000 2. 000 5. 000 1

5. 000 3. 000 2.000 5. 000 1. 000




peran

#

¢ 75 HPPE fid /K & ) &
UEE (m)
%4 (m) Y 1T
=] forcs Vo =
F B OB M B RO ERE zu . K &
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
1 HPPE 75 5. 000 3. 000 1. 000 4. 000 1. 000 2 A R iR
2 HPPE 75 5. 000 5. 000 5. 000
3 HPPE 75 5. 000 5. 000 5. 000
i 15. 000 13. 000 1. 000 14. 000 1. 000 2
15. 000 13. 000 1. 000 14. 000 1. 000 2. 000




$75 HiVP Hd K & b B X
UEE (m)
B BW EE |0 ERR S e T i %
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()
1 HiVP 75 4. 000 1. 000 1. 000 2. 000 2. 000 2 S J ] i
2
3
4
5
6
7
8
9
10
g 4.000 1. 000 1. 000 2. 000 2. 000 2
4.000 1. 000 1. 000 2. 000 2. 000 2. 000




¢ 150 HPPE #d /K & ) & %
UEE (m) \
B BW EE |0 ERR S e T i %
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()

1 HPPE 150 5. 000 3.000 2. 000 5. 000 1 AN R LR
2 HPPE 150 5. 000 3. 000 2. 000 5. 000 1 "
3 HPPE 150 5. 000 2. 000 2. 000 4.000 1. 000 2 "
4
5
6
7
8
9
10

g 15. 000 8. 000 6. 000 14. 000 1. 000 4

15. 000 8. 000 6. 000 14. 000 1. 000 4.000




¢ 150 HiVP Hd K & 8 & %
UEE (m) \
BOEW B R |0 ERE S e T i %
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()
1 HiVP 150 4. 000 1. 000 1. 000 1. 000 1. 000 4. 000 3 AN R LR
2 HiVP 150 4. 000 1. 000 1. 000 3. 000 1
3
4
5
6
7 5. 000
8
9
10
g 8. 000 2. 000 1. 000 1. 000 1. 000 10. 000 3. 000 4
8. 000 2. 000 1. 000 1. 000 1. 000 10. 000 3. 000 4.000




